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1. Introduction

In multi-beam operation, cell level measurement result is derived from beam measurement results. In this contribution, we would like to clarify some ambiguous UE behavior for cell selection criterion check. 
2. Discussion
For the UE in RRC idle state, cell level measurement result is checked according to the network configuration in order to determine whether cell selection criterion and cell reselection criteria is met. In multi-beam operation, cell level measurement result is derived from beam measurement results. For cell reselection criteria, only RSRP or RSRQ measurement result is checked according to the network configuration, i.e. only RSRP is used for intra-carrier cell reselection and inter-carrier/RAT cell reselection to the carrier configured with the same cell reselection priority and only RSRP or RSRQ is used for inter-carrier/RAT cell reselection, which depends on whether threshServingLowQ is configured by the network, to the carrier configured with the different cell reselection priority. However for cell selection criterion, both RSRP and RSRQ measurement results are checked. In the test, it was observed that different beams are involved in the best cell level RSRP measurement result and RSRQ measurement result. Let’s simply assume for cell-A, beam-X is involved in a good cell level RSRP measurement result but it has bad RSRQ measurement result which makes Squal below 0, while beam-Y is involved in a good cell level RSRQ measurement result but it has bad RSRP measurement result which makes Srxlev below 0. For cell-B, beam-Z is involved in both good cell level RSRP and RSRQ measurement results. If cell-A is selected as the candidate cell for cell reselection according to the cell level RSRP or RSRQ measurement result, actual beam used for cell reselection criteria check cannot meet cell selection criterion either based on RSRP or RSRQ, i.e. in the measurement quantity which was not used for cell reselection criteria check. In order to avoid the situation, it would be good to consider the way to help the UE not to reselect such a cell. 
[Proposal]: RAN2 is asked to discuss the above described scenario and the need of consideration in order the UE not to reselect such a problematic cell. 
3. Conclusion
RAN2 is asked to discuss the above described scenario and the need of consideration in order the UE not to reselect such a problematic cell.
